SHIEE 48 ERITETTE

H | W 1T = 4 7

1 | Kk |FFEARIRER A

2 | K

3| K

4 | &

5 | &

6 | H

7| A AKX 17

8 | K IEEX 1WA ZERK 10140 FHE 1T

9 | x 2~6HEA0/ AREIR 2 3£12:20 TR THESRFIRIZ3E11:30 TR 2% =4
B CERD e

10 | R |12~6F4055 4RI 212:20 T E3RFIER211:30 TR £

11 | 2 ERARRE (BRSPS 20 HETIZ) 2~6EHA B B iE 2~64FE454) +

- JAREIRIE 3E13:35 FAR 14E3IF[RIZ3E11:45 PR

121 +

13| H

N KA A LFEEE D) 2~64F4557 4RI 2£13:35 T 14E30FR b
F23E11:45 FRGREEEIER2ER)

5|k kB - G EHRE 2~64F45%7 ARGRRIE 3£13:35 PR 14E3IFRIZ
#11:45 TR SC8:40~12:40

16 | A FEEEH (FV T —ar - RERERD) 2~64 10 2 B i =
ISR 3E11:45 TR

17 | K |6FE2EST) - FERMAEEIIRE) UERERE- ARG x

18 | & |&FHRESHIGIR) - IR (68R) x

19 +

20 | H

21 | H e K780 TP

22 | ‘k 1SC9:40~15:40 *

23 | K |ZEAEHO *

o1 | & A AL PTARSH ) 2FFERBELEHEQCHE) 642H iy
F 77 AR CE L 7F ) SC8:40~14:40

95 | 4 BRI (G- 1HEAZ N2 HE) RaR7LQD) 404y SHFRE: 3%

N 14:05 TR

26 | +

27| H

28 | H £

29 | & |HEFioH

30 | 7k x




